Rally VXL (74076-1) Parts List

Parts shown in bold are optional accessories. Part categories and individual part listings are arranged alphabetically. Prices are shown in US Dollars.

4607
4612
2728
5119A
5119
5120
5116
5114
5117
5118
3934
1985

1726
7436
3935
3934
6416

7415
1815
6716
7411
7411X

2514

5119A
5119
5120
5116
5117
6893X

1477
6814
6888
6888X
6883

5148
6884

6893
7460

7490
5352R

5352X

5552X

2575
2554
3932
1647
6878
5556

7426
7426X

7436
7424

7422
7423

Bearings & Bushings

Ball bearings (5X11X4AMM) (8)...ceerurierrieeriieeiiieeeieee e eeeee e
Ball bearings (10x15x4mm) (2)

Ball bearings (5x8x2.5mm) (2)

Ball bearings, black rubber sealed (10x15x4mm) (2)... $7.00
Ball bearings, blue rubber sealed (10x15x4mm) (2) . $7.00
Ball bearings, blue rubber sealed (12x18x4mm) (2) . $8.00
Ball bearings, blue rubber sealed (5x11x4mm) (2) ... $3.50
Ball bearings, blue rubber sealed (5x8x2.5mm) (2) .. $4.00

Ball bearings, blue rubber sealed (6x12x4mm) (2)
Ball bearings, blue rubber sealed (8x16x5mm) (2)
Body clips, heavy duty (12)
PTFE-coated washers, 5x8x0.5mm (20) (use with ball bearing

Body & Accessories
Antenna caps, vinyl (2)/ antenna spool .
Antenna, tube (1)/ vinyl antenna cap (1)/ wire retainer (1) .............
Body bumper, foam..........cooiiiiiiiiii
Body clip (mounting clip), angled, 90-degrees (10) ..
Body clips, heavy duty (12)
Body mount posts (2)/ body post pivot (2)/ screw pins, 2.5x18mm
2
Body mounts, front & rear/ body post, rear (1)........ccccccevvververvennnn.
BOdY WASHEIS (8) .....ciuveiiiiiiiiiiiiiie e
Body washers, foam, 2mm (2)/ 3mm (2)/ 4mm (4) .
Body, 1/10 Rally (clear, requires painting)
Body, 1/10 Rally, ProGraphix (graphics are printed, requires
paint & final color application)/ decal sheet
Decal sheet, racing sponsors
Official Team Traxxas racing

Center Driveline

Ball bearings, black rubber sealed (10x15x4mm) (2)...
Ball bearings, blue rubber sealed (10x15x4mm) (2) .
Ball bearings, blue rubber sealed (12x18x4mm) (2) .
Ball bearings, blue rubber sealed (5x11x4mm) (2) ... .
Ball bearings, blue rubber sealed (6x12x4mMmm) (2) .........cccoovereennen.
Bearing adapter, 6160-T6 aluminum (blue-anodized)
(1)/20x15x4mm ball bearing (blue rubber sealed) (1) (for
SHPPEr SNAFL). ..
Cover, gear/ wire retainer
Differential kit, center (complete)

Drive hub, center, rear (1)/ front (1)/screw pm ................................

Drive hub, front, hardened steel (1)/ screw pin (1)......cccocvervvervennnn. $4.50
Gear set, center differential (output gears (2)/ spider gears

(2)/ spider gear Shaft).......ccooieiieiiciicice e $15.00
Grease, White IIthiUM........c..cooviiiieie e $3.00
Housing, center differential/ x-ring gaskets (2)/ ring gear

gasket/ bushings (2)/ 5x10x0.5 TW (2)/ CCS 2.5X8 (4) ......ceceuuen $5.00
Input shaft (slipper shaft)/ bearing adapter (1)/pin (1).........cccccvennee. $6.50
Motor mount (assembled with 3x6 flat-head machine screw)/

3.0MM NL (1) o $6.00
Plate, MOLOT......iiueeeeieeie et ettt s e eta e $7.00

Rebuild kit (heavy duty), slipper clutch (steel disc/ aluminum
friction pads (3)/ spring, Revo (1)/ spring, Maxx (1)/ 2x9.8mm
pin/ 5x8mm MW/ 5.0mm NL (1)/ 4.0mm NL (1))
Rebuild kit, slipper clutch (steel disc/ friction pads (3)/ spring
(2)/ 2x9.8mm pin/ 5x8mm MW/ 5.0mm NL (1)/ 4.0mm NL (1))....
Rebuild kit, slipper clutch (steel disc/ friction pads (3)/ spring (2)/

pin/ 4.0mm NL (1)/ 5.0mMmM NL (1)) +1eveeirieiieiieiieiieneeneeseesieeneene $
Screws, 3x6mm button-head machine (hex drive) (6) . .
Screws, 3x6mm cap-head machine (hex drive) (6)...........c..ccoveureen
Screws, 3x6mm flat-head machine (hex drive) (6)
Silicone grease
Slipper clutch, complete
Slipper pressure plate & hub (aluminum alloy)
Slipper pressure plate and hub (allo

Chassis & Attachments

Battery hold-down (1)/ hold-down retainer, front & rear (1 each).... $6.50
Battery hold-downs, tall (2) (allows for installation of taller,

multi-Cell DALtEries) ......ccoviiiiiic e $6.50
Body bumper, fOam...........ccoveiiriii e $5.00

Box, receiver (sealed)/ foam pads/ 2.5x12mm CS (2)/ 3x6mm CS
(2)/ 3x12mm BCS (2)
Chassis..........

Nerf bars, chassis (2)

For assistance, call 1-888-TRAXXAS, or e-mail Traxxas anytime at support@Traxxas.com

7425
7437

5119
5117
5118
5381
6814
6882X

6881
6880
5379X
6879
3965
1647

6455

5119A
5119
5116
5117
6828X
6851X

6852X

6855
6451

6452

6851R

6852R

6750

6751
6850X

6757

6439

6754
6753
6854X
6853X
6869

2728
6823
6823R
7430
6832X

6832R

6832
6895

6897

7438
3646
6839
6839X
6845X

6837X

$3.00
$6.00

Seal kit, receiver box (includes o-ring, seals, and silicone grease) .
Skidplate, front

Differential Components
Ball bearings, blue rubber sealed (10x15x4mm) (2)
Ball bearings, blue rubber sealed (6x12x4mm) (2) ...
Ball bearings, blue rubber sealed (8x16x5mm) (2) .
Carrier, differential/ x-ring gaskets (2)/ ring gear gasket/ 6x10x0.5 TW

Differential kit, center (complete)...
Gear set, differential (output gears (2)/ spider gears (2)/ spider
gear shaft, carrier support)
Housings, differential, front
Housings, differential, rear
Ring gear, differential/ pinion gear, differential
Ring gear, differential/ pinion gear, differential (rear)
Screws, 2.5x8mm cap-head machine (6)
Silicone

Axle carriers, rear, 6061-T6 aluminum, left & right (blue-
anodized)
Ball bearings, black rubber sealed (10x15x4mm) (2)
Ball bearings, blue rubber sealed (10x15x4mm) (2)
Ball bearings, blue rubber sealed (5x11x4mm) (2) ...
Ball bearings, blue rubber sealed (6x12x4mm) (2)

Differential output yokes, heavy duty (2)/ screw pin (2) ........ccccceeue
Driveshaft assembly, front, heavy duty (1) (left or right) (fully
assembled, ready to install)/ Screw pin (1).......ccccoovvervveiieernenieennens $10.00

Driveshaft assembly, rear, heavy duty (1) (left or right) (fully
assembled, ready to install)/ screw pin (1)
Driveshaft, center, 6061-T6 aluminum (blue-anodized)
Driveshaft, front (steel-spline constant-velocity) (complete

ASSEMDBIY) (L) oo $38.00
Driveshaft, rear (steel-spline constant-velocity) (complete

ASSEMDBIY) (L) oo $38.00
Driveshafts, front, steel-spline constant-velocity (complete

ASSEMDBIY) (2) oo $80.00
Driveshafts, rear, steel-spline constant-velocity (complete

ASSEMDBIY) (2) oo $80.00
Half shaft, external splined (steel-spline constant-velocity)

(L) ettt $8.00
Half shaft, internal splined (steel-spline constant-velocity) (1). $6.00
Half shafts, heavy duty (external splined (2)/ internal splined (2))/

MELAL U-JOINES (4).1evveeeiieieeiesiesieete ettt $8.00
Rebuild kit, steel-splined constant-velocity driveshafts

(includes pins, dustboots, lube, and hardware)............c.c.ccouee $18.00

Steering blocks, 6061-T6 aluminum, left & right (blue-
ANOMIZEA) 1.
Stub axle, front, steel-splined constant-velocity (1)
Stub axle, rear, steel-splined constant-velocity (1)..
Stub axles, front, heavy duty (2)/ yokes (2)/ pins (4)
Stub axles, rear, heavy duty (2)/piNS (2) .......ccoeviriririiniiireieeneen
Wheel adaptors, 12mm hex, 6061-T6 aluminum (blue-
anodized) (4)/ screw pins (4)/ drill bit, 0.25 inch (for 6mm
shafts) (requires #6451 (x2), #6452 (x2), #6439, #6455, #5117

Front Suspension & Steering
Ball bearings (5X8X2.5MM) (2).......cciovireirriiieieeiee e
Bulkhead tie bars, front & rear, aluminum (blue-anodized)..............
Bulkhead tie bars, front & rear, aluminum (red-anodized)

Bulkhead, front . $6.00
Caster blocks (c-hubs), 6061-T6 alummum Ieft & rlght (blue-
ANOAIZEA) ©veiviiieie e $45.00

Caster blocks (c-hubs), 6061-T6 aluminum, left & right (red-
anodized)

Caster blocks (c-hubs), left & right
Linkage, front sway bar (2) (assembled with rod ends, hollow
balls and ball StUAS) ......cccoviriiiiiiiii e $10.00

Linkage, rear sway bar (2) (assembled with rod ends, hollow
balls and ball studs)
Linkage, steering.....
Screws, 3x15mm flat-head machine (hex drive) (6)
Shock tower, front

Shock tower, front, 7075-T6 aluminum (blue-anodized)............
Steering bellcranks/ servo saver/ servo saver spring/ servo spring
retainer/Servo horn, StEEMNG.........covueiiiieiiiee e $12.00
Steering blocks, 6061-T6 aluminum, left & right (blue-

FE VYo Yo [7Z=Tc | TSSOSO $30.00

REV. 150326 1248



Page 2 Rally VXL: TQi Traxxas Link Enabled 2.4GHz Radio (74076-1) Parts List

Radio System, Batteries & Chargers

6837R

6837
6754
6854X
3655X
6834
6898

3643

5539

6896

1926
1726
1552

3935
3934
1589
2586

2745
3647
1747
1985
5525
2742X
3347
3215
3965
2577
2578
2552
2579
3646
2583
2580
2591
2582
2592
2575
2534
3932
2576
3931
3936
3937
2542
3938
2546
2743
3642X
2754
2748X

3340
2072
7460

3351R
3378
3347
3932
2074

2075
3350R

3355R

Steering blocks, 6061-T6 aluminum, left & right (red-

anodized) . $30.00
Steering blocks, left & right $5.00
Stub axle, front, steel-splined constant-velocity (1) $7.50
Stub axles, front, heavy duty (2)/ yokes (2)/ pins (4) . $8.00
Suspension arms, left & right ... $10.00
Suspension pin set, complete (front and rear)...........c.ccevevevierennns $4.00
Sway bar kit (front and rear) (includes front and rear sway

bars and adjustable liNKage) ..........cccceiieiieiienieieseeeeeeee $25.00
Turnbuckles, camber link, 49mm (82mm center to center)

(assembled with rod ends and hollow balls) (1 left, 1 right) ............ $7.50

Turnbuckles, camber links, 58mm (assembled with rod ends and
hollow balls) (2)
Wires, sway bar (front & rear, hard & soft) / 3x6 FCS (4

Hardware

Antenna caps, vinyl (2)/ antenna spool $2.00
Antenna, tube (1)/ vinyl antenna cap (1)/ wire retainer (1)... .. $1.00
Backplate screws (3x8mm cap-head machine) (6)/washers (6)/
wrench $3.00
Body clip (mounting clip), angled, 90-degrees (10) $3.00
Body clips, heavy duty (12) $3.00
Double-sided adhesive tape (25mm x 25mm) (2) .. $1.00
Head screws, 3x15mm cap-head machine (hex drive) (6) (TRX

... $2.50
Nuts, 3mm nylon locking (12) .. $2.00
Nuts, 4mm flanged nylon locking (steel, serrated) (8) $3.25
Nuts, 4mm nylon locking (10) .. $2.00
PTFE-coated washers, 5x8x0.5mm (20) (use with ball bearlngs)... $2.00
Rod ends (12)/ hollow balls (12) . $9.00
Rod ends, short (6)/ hollow balls (6).. $4.00
Screws, 2.5x5mm button-head machine (hex drive) (6) $2.50
Screws, 2.5x6mm cap-head machine (hex drive) (6)..... $2.00
Screws, 2.5x8mm cap-head machine (6) ...... $2.50
Screws, 3x10mm button-head machine (hex drive) (6) . $2.50
Screws, 3x12mm button-head machine (hex drive) (6) $2.50
Screws, 3x12mm countersunk machine (6) (hex drive) $2.50
Screws, 3x15mm button-head machine (hex drive) (6) . $2.50
Screws, 3x15mm flat-head machine (hex drive) (6).... $2.50
Screws, 3x18mm button-head machine (hex drive) (6) . $2.50
Screws, 3x20mm button-head machine (hex drive) (6) $2.50
Screws, 3x23mm button-head machine (hex drive) (6) $2.50
Screws, 3x30mm button-head machine (hex drive) (6) .... $2.50
Screws, 3x40mm button-head machine (hex drive) (6) .... $3.00
Screws, 3x6mm button-head machine (hex drive) (6) ... $2.50
Screws, 3x6mm countersunk machine (6) (hex drive) $2.50
Screws, 3x6mm flat-head machine (hex drive) (6) $2.50
Screws, 3x8mm button-head machine (hex drive) (6) $2.50
Screws, 3x8mm flat-head machine (hex drive) (6) ..... $2.50
Screws, 4x10mm button-head machine (hex drive) (6) . $2.50
Screws, 4x12mm button-head machine (hex drive) (6) $2.50
Screws, 4x12mm countersunk machine (hex drive) (6) $2.50
Screws, 4x14mm button-head machine (hex drive) (6) .... $2.50
Screws, 4x15mm countersunk machine (hex drive) (6). $2.50

Set (grub) screws, 3mm hardened (12)...........ccccueee
Shoulder screws, Ultra Shocks (3x12 hex drive) (6)
STUD axXI@ PINS (4) oot
Tool Set (1.5mm &2.5mm allens/ 4-way lug, 8mm &4mm wrench

& U-JOINT WIENCNES) ...
Washers, 3x6mm metal (12

Owner's manual, 1/10 Rall

Motors & Electronics
Antenna, tube (1)/ vinyl antenna cap (1)/ wire retainer (1).............
Cooling fan, Velineon VXL-3s ESC .

Gear set (for 2070, 2075 servos)

Motor mount (assembled with 3x6 flat-head machine screw)/

3.0MM NL (1) o $6.00
Motor, Velineon 3500, brushless (assembled with 12-gauge wire

and gold-plated bullet connectors) .... ....$120.00
MXL-6s Brushless Power System, waterproof (includes MXL-

6s waterproof ESC, 2200Kv, 75mm motor) ... $479.95
Screws, 2.5x5mm button-head machine (hex drive) (6) $2.50
Screws, 3x6mm flat-head machine (hex drive) (6) ........... $2.50
Servo case/gaskets (for 2056 and 2075 waterproof servos)......... $6.00
Servo, digital high-torque (ball bearing), waterproof....................... $46.00
Velineon VXL-3s Brushless Power System, waterproof (includes

VXL-3s waterproof ESC, Velineon 3500 motor, and speed control
mounting plate (Part #3725)) ......ccueiuierieiieiieie e $250.00
Velineon VXL-3s Electronic Speed Control, waterproof

(brushless) (fwd/rev/brake)............ccccveeiiiiiiiiiciiiicic e $220.00

2854X
2872X
2857X
2869X
2878X
2976

2938

6548

2914
2927X

2975
2970

2929
6525
6512
2072
6555

6535

6518
3932
6552

6526
6527
6520
6521
2074
2075
6550
6551
6539

6540
2928
6509X
6507X
6528
6529

6530

6511
3355R

10000mAh 7.4v 2-Cell 25C LiPo Battery ...
5000mAh 11.1v 3-Cell 25C LiPo Battery ...
6400mAh 11.1v 3-Cell 25C LiPo Battery ...
7600mAh 7.4v 2-Cell 25C LiPo Battery ..
8400mAh 11.1v 3-Cell 25C LiPo Battery
AC to DC converter, 40W .........cccoovviiriiniin i
Adapter, Traxxas iD Lipo Battery. (Connects Traxxas iD
batteries to LiPo chargers with separate balance ports)...........
Battery door, TQ 2.4 transmitter (replacement for #6516, 6517,
6528, 6529, 6530 transmitter)
Battery, Power Cell AA Alkaline (4).
Charger, A/C, 500 mA (7 cell, NiMH) (includes plug inserts for
US/Japan, European Union, United Kingdom, and Australia)...
Charger, DC, 4 amp (6 - 7 cell, 7.2 - 8.4 volt, NiMH) ...
Charger, EZ-Peak Plus, 4 amp, LiPo/NiMH with iD Auto
Battery 1dentification..........cccocvviiiiiiii
Charging Bag, 30 watt hours rated
Communication link, telemetry expander.
Cover plate, Traxxas Link Wireless Module..
Gear set (for 2070, 2075 servos)
Mount, telemetry expander (fits Slash 4X4, Stampede 4X4,
Rally, Jato)..
Mount, temperature sensor (electric motors)/ wire tie/

$25.00
$32.00

thermal Pad ... $3.00
Receiver, micro, TQi 2.4GHz with telemetry (5-channel)................ $50.00
Screws, 3x6mm flat-head machine (hex drive) (6).............cccvcerneenne $2.50

Seal kit, expander box (includes o-ring, seals, and silicone
grease)
Sensor, auto-detectable, temperature
Sensor, auto-detectable, voltage
Sensor, RPM (long)/ 3x4mm BCS (2)/ 3x4 GS (1).
Sensor, temperature and voltage (long)

Servo case/gaskets (for 2056 and 2075 waterproof servos)...........
Servo, digital high-torque (ball bearing), waterproof .... ... $46.00
Telemetry expander, TQi radio system.. . $35.00

Telemetry GPS module, TQi radio system
Telemetry trigger magnet holder, center differential/ magnet,
5x2mm (1)/ 3x8mm BCS (3)
Telemetry trigger magnet, 5X2mm (1)
Temperature sensor, EZ-Peak Plus...
TQi 2.4 GHz radio system, 2-channel Traxxas Link enabled (2- ch

transmitter, 5-Ch MICro reCEIVEN) ..........cviuiiiiiieiie e $135.00
TQi 2.4 GHz radio system, 4-channel with Traxxas Link
Wireless Module (4-ch transmitter, 5-ch micro receiver)........... $200.00

Transmitter, TQi Traxxas Link enabled, 2.4GHz high output, 2-
channel (transmitter only)...
Transmitter, TQi Traxxas Link enabled, 2.4GHz high output,
3-channel (transmitter only)
Transmitter, TQi Traxxas Link enabled, 2.4GHz high output,
4-channel (transmitter only)
Traxxas Link Wireless Module
Velineon VXL-3s Electronic Speed Control, waterproof
brushless) (fwd/rev/brake

Ready-To-Race Model

74076-1 Rally VXL: 1/10 Scale Brushless Rally Racer with TQi Traxxas

6823R
7429
1952X

1952
1952A
6895

6897

6838
6838X
6853X
3655X
6834
6898

3644

6896

Link Enabled 2.4GHz Radio System
Rear Suspension

Bulkhead tie bars, front & rear, aluminum (blue-anodized)..............
Bulkhead tie bars, front & rear, aluminum (red-anodized) ..
Bulkhead, rear
Carriers, stub axle (blue-anodized 6061-T6

AlUMINUM)(FEAI)(2) .. .veeevieieeie ettt $28.00
Carriers, Stub axle (Fear) (2) ......ccooveeeiieiie e $3.00
Carriers, stub axle (red-anodized 6061-T6 aluminum)(rear)(2).. $28.00
Linkage, front sway bar (2) (assembled with rod ends, hollow

balls and ball StUAS) .......cccoeiiiiiiiieee e $10.00
Linkage, rear sway bar (2) (assembled with rod ends, hollow

balls and ball StUAS) .......cccoeiiiiiiiiceee e $10.00
SNOCK LOWET, TRAT ...ttt e s e erae e $6.00
Shock tower, rear, 7075-T6 aluminum (blue-anodized) ............. $28.00

Stub axles, rear, heavy duty (2)/pins (2)....
Suspension arms, left & right.....................
Suspension pin set, complete (front and rear) .
Sway bar kit (front and rear) (includes front and rear sway

bars and adjustable linKage) ..........cccocveiieiieiiciieeeeceen $25.00
Turnbuckles, camber link, 39mm (69mm center to center)

(assembled with rod ends and hollow balls) (1 left, 1 right) ............ $7.00
Wires, sway bar (front & rear, hard & soft) / 3x6 FCS (4)........... $8.00

REV. 150326 1248



Page 3 Rally VXL: TQi Traxxas Link Enabled 2.4GHz Radio (74076-1) Parts List

: 2656 Shock shafts, steel, chrome finish (xx-long) (2)

. ShOCkS (Alummum) , 1765 Silicone diaphragms (4)
1965 Pltst_on heaZd set, (2 sets of 3 types)/ shock collars (2)/ spring 5250 1666  Silicone shock oil (30 wt) i
FEEAINETS (2) 1eitiiieeitie ittt . 3769 Spring pre-load spacers: 1mm (4)/ 2mm (2)/ 4mm (2)/ 8mm (2)..... $4.00

1942 E;gvsg?g)(lis long & 4 short)/ hollow ball connectors (18)/ ball $7.00 3768  Spring retainers, upper & lower (2)/ piston head set (2-hole (2)/ 3-
’ 0o L= 022 ) TSRS SP OSSR
;;ggx zﬁd eknds, shorlt (6)./ hOHOV\ZI balls (6).. :‘7188 6863 Springs, front (progressive, +10% rate, pink) (2)
1664T Shock Cﬁpft, a[:]mclinumd( )tl tit itrid ted (1 : ’ 6864 Springs, front (progressive, +20% rate, blue) (2) .
ock shafts, hardened steel, titanium nitride coated (long) 6862 Springs, front (progressive, -10% rate, green) (2)
() ettt et $10.00 6861 Springs. front (progressive, -20% rate. orange) (2)
2765T Shock shafts, hardened steel, titanium nitride coated (X- p . 9s. p 'g ’ ; ' 9
1ONG) (2) 1t . 6857  Springs, front (white) (progressive rate) (2)

6867 Springs, rear (progressive, +10% rate, pink) (2)
2765 Shock shafts, steel, chrome finish (X-long) (2) 6868  Springs, rear (progressive, +20%rate, blue) (2)

4760 Shocks, long (hard-anodized & PTFE-coated T6 aluminum) 6866 Spr?ngs’ rear (progress?ve’ '102/" rate, green) (2).
W/O SPFNGS (FTON) (2) cvvvveveeeeeereeeeeeieeeeeeseeeeeeeseesee s $25.00 0865 Springs, rear (progressive, -20% rate, orange) (2)

4761 Shocks, X-long (hard-anodized & PTFE-coated T6 aluminum) 6858  Springs, rear (white) (progressive rate) (2)
w/o springs (rear) (2) $25.00 3760 Ultra Shocks (black) (long) (complete w/ spring pre- Ioad

1664  Shock shafts, steel, chrome finish (long) (2)...

1666  Silicone shock oil (30 wt ) spacers & springs) (front) (2) ..o $18.00
. 3762 Ultra Shocks (black) (xx-long) (complete w/ spring pre-load
Shocks (Pro-level Alumlnum) SPAcers & SPrings) (F€Ar) (2).....cveveeerereerivereereereiereeiessseseseeees $18.00
2664 Big Bore shock cylinder (long) (1). $8.00 3760A Ultra Shocks (grey) (long) (complete w/ spring pre-load spacers &
2666 Big Bore shock cy|inder (XX_|0ng) (1) springs) (2) ..................................................................................... $18.00

3762A

5862 Big Bore shocks (hard-anodized & PTFE-coated T6
aluminum) (assembled with TiN shafts and springs) (front &
[E=T: 10 ) T U PP OURPPROOE

2660 Big Bore shocks (long) (hard-anodized & PTFE-coated T6
aluminum) (assembled with TiN shafts) w/o springs (front)

Ultra Shocks (grey) (xx-long) (complete w/ spring pre-load
i 2

6893X Bearing adapter, 6160-T6 aluminum (blue-anodized)
(1)/20x15x4mm ball bearing (blue rubber sealed) (1) (for
SHPPEr SNAFL) . ..ei i

2662 Big Bore shocks (XX-long) (hard- anodlzed & PTFE-coated T6
aluminum) (assembled with TiN shafts) w/o springs (rear) (2) $30.00

6814 Differential kit, center (complete)

2669 Piston head set (2-hole (2)/ 3-hole (2))/ shock mounting 6888  Drive hub, center, rear (1)/ front (1)/screw pin
bushings & washers (2) (Big Bore ShOCKS) .........ccccovrrrrrrenen. $2.50 6888X Drive hub, front, hardened steel (1)/ screw pin (1)....

2362 Rebuild kit, Ultra shocks (for 2 SHOCKS .......coccvvveeveveveeieecienen, $2.50 6883 Gear set, center differential (output gears (2)/ spider gears

1942 Rod ends (16 |0ng &4 ShOfI)/ hollow ball connectors (18)/ ball (2)/ splder gear sh_aft) ...... s s s $15.00
SCIEWS (2) 1evervevereereeseeeseesee s sessessesess e sessssse s snes . 6884  Housing, center differential/ x-ring gaskets (2)/ ring gear

gasket/ bushings (2)/ 5x10x0.5 TW (2)/ CCS 2.5x8 (4).

2742X Rod ends, short (6)/ hollow balls (6) : - ;
2667 Shock caps, aluminum (2)/ (Big Bore Shocks) 3793  Input shaft (slipper shaft) / spring pin - :
1664T Shock shafts, hardened steel, titanium nitride coated (long) 5352R Rebuild kit (heavy duty), slipper clutch (steel disc/ aluminum
@ $10.00 friction pads (3)/ spring, Revo (1)/ spring, Maxx (1)/ 2x9.8mm
.................................................................................................. . pin/ 5x8mm MW/ 5.0mm NL (1)/ 4.0mm NL (1)) . oo $9.50
$10.00 9352X Rebuild kit, slipper clutch (steel disc/ friction pads (3)/ spring
' (2)/ 2x9.8mm pin/ 5x8mm MW/ 5.0mm NL (1)/ 4.0mm NL (1)) .... $7.50
$3.00 5552X Rebuild kit, slipper clutch (steel disc/ friction pads (3)/ spring (2)/

2656T Shock shafts, hardened steel, titanium nitride coated (xx-

long) (2)
1664 Shock shafts, steel, chrome finish (long) (2)...

2656 Shock shafts, steel, chrome finish (xx-long) (2)..

’ pin/ 4.0mm NL (1)/ 5.0mMM NL (1)) ceueeeiiiieeiieeiieee i $10.00
i;gg 2:::222@ SLi)iiriﬁTgo(j/)t) 2;88 2554  Screws, 3x6mm cap-head machine (hex drive) (6)...........cccocervenne $2.50
h ’ 6878  Slipper clutch, complete
2668 Spring retainers, upper & lower (2)/ spring pre- Ioad spacers: 5556  Sli late & hub (alumi I
1mm (4) 1.5mm (2)/ 2mm (2)/ 4mm (2)/ 8mm (2) (Big Bore ipper pressure plate & hub (aluminum alloy)
SRNOCKS) 1.ttt . 5351 Slipper pressure plate and hub (allo

6863  Springs, front (progressive, +10% rate, pink) (2). . . Spur Gears & Pinion Gears

6864 Springs, front (progressive, +20% rate, blue) (2) . 7477  Cover, gear/ wire retainer

6862 Springs, front (prOQresswer -10%rate, green) (2) ---------------------- $5.00 3942 Gear, 12-T pinion (32-p) (mach. steel)/ set screw
6861 Springs, front (progressive, -20% rate, orange) (2) .. $5.00 3943  Gear, 13-T pinion (32-p) (mach. steel)/ set screw
6857 Springs, front (White) (prOQresswe rate) (2) --------- . $5.00 3944  Gear, 14-T pinion (32-p) (mach. steel)/ set screw.

6867 Springs, rear (progressive, +10% rate, pink) (2) ..

! ! $6.50 3945 Gear, 15-T pinion (32-p) (mach. steel)/ set screw
6868 Springs, rear (progressive, +20% rate, blue) (2) ..

i I $6.50 3946 Gear, 16-T pinion (32-p) (mach. steel)/ set screw
6866 Springs, rear (progressive, -10% rate, green) (2). $6.50 3947 Gear, 17-T pinion (32-p) (mach. steel)/ set screw.
6865 Springs, rear (progressive, -20% rate, orange) (2) $6.50 3948 Gear, 18-T pinion (32-p) (mach. steel)/ set screw

6858 Springs, rear (white) (progressive rate) (2 .. $6.50 3949 Gear, 19-T pinion (32-p) (mach. steel)/ set screw
Shocks (U|tra Shocks) 3950 Gear, 20-T pinion (32-p) (mach. steel)/ set screw.

3642 Attachment screws, shock (3x12mm shoulder screws) (6).... 3951 Gear, 21-T pinion (32-p) (mach. steel)/ set screw
3765A Body, Ultra Shock(s) (10ng) (Grey) (2)..reeeerereeerrrreee 3952 Gear, 22-T pinion (32-p) (mac.h.stleel)/set screyv ....... U
3766A Body, Ultra Shock(s) (XXL) (grey) (2) 6842  Spur gear, 50-tooth (0.8 metric pitch, compatible with 32-

2362  Rebuild kit, Ultra shocks (for 2 shacks s4oR gitch) ........ 50 ........ hos ......... e h ............... b| ....... h32 ......... $3.00
1942 Rod ends (16 long & 4 short)/ hollow ball connectors (18)/ ball pur gear, 50-tooth ©. metric pitch, compatible wit g
SCIEWS (2) oo pitch) (for center differential)...........cccoveviieiiiiiiiiiice $3.00
2742X Rod ends, short (6)/ hollow balls (6) 6843 Spur gear, 52-tooth (0.8 metric pitch, compatible with 32-
’ v pitch)

3767 Shock caps (2)/ shock bottoms (2)

3767A Shock caps, aluminum (blue-anodized) (4) (fits all Ultra 6843R Spur gear, 52 tooth (0.8 mettic pitch, compatible with 32- $3.00

SROCKS) oottt ene e $14.00 pitch) (for center differential)..........c....... S e e ’

; ] : 3956  Spur gear, 54-tooth (0.8 metric pitch, compatible with 32-pitch) ..... $3.00

3767G Shock caps, aluminum (green-anodized) (4) (fits all Ultra T . ;

SNOCKS) . s1400 3956 Spur gear, S4tooth (0.8 metric pitch, compatible with 32-
3767X shock caps, aluminum (red-anodized) (4) (fits all Ultra pitc or center di ernnt|a .................................................... .

ShOCKS) .o T — . X Steering Components
1664T Shock shafts, hardened steel, titanium nitride coated (long) 1552  Backplate screws (3x8mm cap-head machine) (6)/washers (6)/

- wrench

2656T Shock shafts, hardened steel, titanium nitride coated (xx- 2728  Ball bearings (5x8x2.5mm) (2)..

long) (2)
1664 Shock shafts, steel, chrome finish (long) (2)

7438  Linkage, Steering........c.cccocvevvvereeivenneninns
2742 Rod ends, long (6)/ hollow ball connectors (6)
6845X Steering bellcranks/ servo saver/ servo saver spring/ servo spring
retainer/servo horn, steering.
2746 Washers, 3x6mm metal (12)

REV. 150326 1248



Page 4 Rally VXL: TQi Traxxas Link Enabled 2.4GHz Radio (74076-1) Parts List

Suspension Linkage

5525 Rod ends (12)/ hollow balls (12)
3739 Screw pin set (Rustler/ Bandit/ Stampede)

6834  Suspension pin set, complete (front and rear)..........c.cccocevivernennn. $4.00
2537 Threaded rods (20/25/44mm 1 ea.)/ (1) 12mm set screw............... $2.50
3644 Turnbuckles, camber link, 39mm (69mm center to center)

(assembled with rod ends and hollow balls) (1 left, 1 right) ............ $7.00
3643 Turnbuckles, camber link, 49mm (82mm center to center)

(assembled with rod ends and hollow balls) (1 left, 1 right) ............ $7.50
5539  Turnbuckles, camber links, 58mm (assembled with rod ends and

hOlOW DAIIS) (2) .. $7.50

Team Traxxas ltems
2514 Decal sheet, raCing SPONSOIS. .....c.cicuiriiiiirirenieesee e siee e siee s $3.00
9950 Official Team Traxxas racing decal set (flag logo/ 6-color)....... $4.50
9909 Traxxas racing banner, red & black (3x7 feet) .............c.ccoevns $15.00
Tires & Wheels

5116 Ball bearings, blue rubber sealed (5x11x4mMmm) (2) ........cccovvervennen. $3.50
5854 Hub retainer, 17mm hubs, M4 X 0.7 (4) (use with #5853X,

HBB56X, HB469).......uuieeiieiiiiiieeiee e $8.00
3647 Nuts, 4mm flanged nylon locking (steel, serrated) (8).........ccc.cceu... $3.25
1985 PTFE-coated washers, 5x8x0.5mm (20) (use with ball bearings)... $2.00
1647 SIlICONE GrBASE......eeveeuierieieteie sttt ettt ettt ettt sbeene e $2.00
2754 StUb axI€ PINS (4) .uveeeeiiiierieetee et $1.00
7473X Tires & wheels, assembled, glued (Green wheels, BFGoodrich

Rally, gravel pattern tires, foam inserts) (2)........cccoccevvverierecrnennn. $28.00
7473A Tires & wheels, assembled, glued (orange wheels, BFGoodrich

Rally, gravel pattern tires, foam iNSerts) (2) ........cccoeeeeeneeerieeenneenn $28.00

7473R Tires & wheels, assembled, glued (White wheels,
BFGoodrich Rally, gravel pattern, S1 compound tires, foam

INSEITS) (2).rvteveireerieieieiesie sttt ettt ettt sbe e ase e seeneeneens $28.00
7473 Tires & wheels, assembled, glued (White wheels, BFGoodrich

Rally, gravel pattern, tires, foam iNSerts) (2).........ccccevvveriverieerinenenn $28.00
7471 Tires, BFGoodrich Rally, gravel pattern (2)/ foam inserts (2).......... $20.00

7471R Tires, BFGoodrich Rally, gravel pattern, S1 compound (2)/

foam inserts (2)
1654 Wheel hubs, hex (2)/ stub axle pins (2)
6856X Wheel hubs, splined, 17mm, short (4)/ wheel nuts, splined, 17mm

(4) (blue-anodized)/ hub retainer M4 X 0.7 (4)/ axle pin (4)/

WIENCH, BIMIM L.t e et e e et e e s eaee e snee s $40.00
5353 Wheel nuts, splined, 17mm (blue-anodized) (4).......c.cccocvvrvennen. $10.00
5480X Wheel wrench, splined, 17mm .... ..
7472X Wheels, green (2)
7472A Wheels, orange (2)..
Wheels, white (2) ....

Turnbuckles & Threaded Rods

5525 Rod ends (12)/ hollow balls (12)......c.ccceieriiriieiieiieiie e $9.00
3644 Turnbuckles, camber link, 39mm (69mm center to center)

(assembled with rod ends and hollow balls) (1 left, 1 right) ............ $7.00
3643 Turnbuckles, camber link, 49mm (82mm center to center)

(assembled with rod ends and hollow balls) (1 left, 1 right) ............ $7.50

5539  Turnbuckles, camber links, 58mm (assembled with rod ends and
hollow balls) (2)....

If you have questions or need technical assistance, call Traxxas at:

1-888-TRAXXAS

(1-888-872-9927) (U.S. residents only)

For orders, calls outside the U.S., and other information, call 972-549-3000,
or fax to 972-549-3011 e-mail Traxxas at support@Traxxas.com

TRAXXAS.com

REV. 150326 1248



